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1. What are the coordinates of the fourth

vertex of the parallelogram shown below.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HfihmlgXD2Cv

° Watch Video Solution

2. The figure shows a parallelogram with the

coordinates of its vertices: Prove that


https://dl.doubtnut.com/l/_HfihmlgXD2Cv
https://dl.doubtnut.com/l/_yXPYujKfQXuS
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° Watch Video Solution

3. A parallelogram is drawn with the lines
joining (1, y1) and (s, yo) to the origin as

adjacent sides."What are the coordinates of


https://dl.doubtnut.com/l/_yXPYujKfQXuS
https://dl.doubtnut.com/l/_GP4okreQ7Y8A

the fourth vertex?
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o Watch Video Solution

4. Prove that in any parallelogram, the 'sum of

the squares of all sides is equal to the sum of


https://dl.doubtnut.com/l/_GP4okreQ7Y8A
https://dl.doubtnut.com/l/_2JMuG9WAWgQP

the squares of the diagonals'.

o Watch Video Solution

5. In this picture, the mid points of the sides of
the large triangle are joined to make a small

triangle inside.


https://dl.doubtnut.com/l/_2JMuG9WAWgQP
https://dl.doubtnut.com/l/_uEo6TxdFsKYE

Calculate the co-ordinates of the vertices of

the large triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_uEo6TxdFsKYE

6. A circle is drawn with the line joining '(2,3)’
and '(6 , 5)' as diameter. What are the

coordinates of the centre of the circle?

o Watch Video Solution

7. The coordinates of two opposite vertices of
a parallelogram are '(4,5)' and '(1,3)'. What are
the coordinates of the polnt of intersection of

its diagonals?

° Watch Video Solution



https://dl.doubtnut.com/l/_OoiMzgGSVc3X
https://dl.doubtnut.com/l/_ekiFmNFuofnk

8. The coordinates of the vertices of a
quadrilateral taken in order are '(2,1),, '(5,3),
(8,7),(4,9)'.
I) Find the coordinates of the midpoints of all
four sides.
i) Prove that the quadrilateral got by joining

these mid points is a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_ekiFmNFuofnk
https://dl.doubtnut.com/l/_er1t4wB5tDgK

9. In the picture, the mid points of the large
rilateral are. joined to form the smaller

rilateral within.

i) Find the coordinates of the fourth. vertex of

the smaller rilateral.

ii) Find the coordinates of the other three

vertices of the larger rilateral.

Y. I


https://dl.doubtnut.com/l/_cYoNw4wMuTKz

l @ VWatch vVideo Solution ]

10. The coordinates of the vertices of a
triangle are (3,5), (9,13), (10,6), Prove that this

triangle is isosceles. Calculate its area.

o Watch Video Solution

11. The centre of a circle is '(1,2)' and a point on
it is '(3,2)". Find the coordinates of the other

end of the diameter through this point.

o Watch Video Solution



https://dl.doubtnut.com/l/_cYoNw4wMuTKz
https://dl.doubtnut.com/l/_Si3wCoqEmc9m
https://dl.doubtnut.com/l/_p0XHnewaTXIy

12. If 'A(2,-1)' B '(3,4), C(-2,3)" are the vertices of a

parallelogram find the fourth vertex.

o Watch Video Solution

13.In triangle 'ABC,(4,2)" is the mid point of 'AB".
The mid point of 'BC' is '(5,4)', the mid point of
'‘AC' is '(3,3)

Draw a rough figure.

Find the vertices of the triangle.

| = 1


https://dl.doubtnut.com/l/_p0XHnewaTXIy
https://dl.doubtnut.com/l/_VoFuRnG6xBaK
https://dl.doubtnut.com/l/_hkFEnFQVSIp2

I &9 Watch Video Solution I

14. If the points 'A(2,-2), B(14 , 10) C (11,13)" are
the three vertices of a rectangle find the

fourth vertex, 'D'.

o Watch Video Solution

15. Find the coordinates of the midpoint of the

line joining the points '(1,-2)', '(-3,4)’

o Watch Video Solution



https://dl.doubtnut.com/l/_hkFEnFQVSIp2
https://dl.doubtnut.com/l/_1ZNwmKaUcie6
https://dl.doubtnut.com/l/_pDkGHmcO7VkX

16. The points 'A(6,1), B(8,2), C(9,4)', D '(p, 3)" are
the vertices of a parallelogram.
Find the value of p using the concept that the

diagonals of a parallelogram bisect each other

o Watch Video Solution

17. One end of the diameter of a circle is (1, 4).
The center of the circle is '(3,-4)".

Find the coordinates of the other end.

o Watch Video Solution



https://dl.doubtnut.com/l/_RBpwbwwusEBz
https://dl.doubtnut.com/l/_SdO65ePm5vmC

18. Calculate the coordinates of the point
dividing the line joining the points '(1,6)' and

'(11,2)" in the ratio '3: 5'

o Watch Video Solution

19. Now look at this picture:

{8,3)

(4,1) bt


https://dl.doubtnut.com/l/_SdO65ePm5vmC
https://dl.doubtnut.com/l/_covXq7DsP3k3
https://dl.doubtnut.com/l/_ZE1sdH7Xof9l

The line inside the large triangle is the
bisector of the top angle. We want to find the
coordinates of the point where it meets the
bottom side. That is we have to find the

coordinates of 'D .

o Watch Video Solution

20. The coordinates of two points 'A' and 'B'
are '(3,2)' and '(8,7)'

Find the coordinates of:


https://dl.doubtnut.com/l/_ZE1sdH7Xof9l
https://dl.doubtnut.com/l/_5hzaq0DjibMq

i) the point 'P' on 'A B' with 'A P: P B=2: 3'

i) the point 'Q' on 'AB' with 'A Q: Q B=3: 2

° Watch Video Solution

21. Find the coordinates of the points which
divide the line joining '(1,6)' and '(5,2)" into

three equal parts.

° Watch Video Solution



https://dl.doubtnut.com/l/_5hzaq0DjibMq
https://dl.doubtnut.com/l/_GOc4cSHHgipt

22. The coordinates of the vertices of a
triangle are(-1,5),(3,7),(1,1).Find the coordinates

of its centroid.

o Watch Video Solution

23. Calculate the coordinates of the point P in

the picture.


https://dl.doubtnut.com/l/_74vT9zccyuUo
https://dl.doubtnut.com/l/_UkkqyLOJoR8I

(0,0)" : " (4,0)

o Watch Video Solution

24. Find the coordinates of the points 'P' and
'Q" which trisect the line joining '(2,-3)' and

|(4’_1)|

o Watch Video Solution



https://dl.doubtnut.com/l/_UkkqyLOJoR8I
https://dl.doubtnut.com/l/_LyygDk87MW0W

25. Prove that A(64),B(5,-2),C(7,-2) is an
isosceles triangle. If D is the mid point of the
side BC ,find the coordinates of D. Calculate
the length of this median. Also find the

coordinates of centroid.

o Watch Video Solution

26. Find the coordinates of the point which

divides the line joining '(4,-3),(9,7)" in the ratio


https://dl.doubtnut.com/l/_LyygDk87MW0W
https://dl.doubtnut.com/l/_fYy9H83PH2JZ
https://dl.doubtnut.com/l/_rWyZGQzWU8tF

'3: 4",

o Watch Video Solution

27.1n A ABC A(6,8),B(3,4),C(-2,2) are its vertices.

The bisector of ZA cuts BC at D. Find BD:CD.

° Watch Video Solution

28. Prove that the points '(1,3),(2,5)' '(3,7)" are

on the same line.

o Watch Video Solution



https://dl.doubtnut.com/l/_rWyZGQzWU8tF
https://dl.doubtnut.com/l/_P0ydG1t7Fvwq
https://dl.doubtnut.com/l/_YIuRYnc2krjw

29. Find the coordinates of two more points

on the line joining '(-1,4)" and '(1,2)'.

° Watch Video Solution

30. zi,x9,x3 and Yi1,Ys,Y3........ are
arithmetic sequences. Prove that all points
with  coordinates in the  sequence

(1, Y1)s (@25 Y2)s (@35 Y3)5 v vvveen e of

number pairs are on the same line.

| e |


https://dl.doubtnut.com/l/_YIuRYnc2krjw
https://dl.doubtnut.com/l/_RkzlJQGxau60
https://dl.doubtnut.com/l/_l2q3uNxyzNQ5

& Wwatch Video Solution I

31. Prove that if the points
(z1,y1), (z2,y2), (3, y3) are on a single line,
then the points
(3z1 + 2y1, 3z1 — 2y1), (3z2 + 2ys, 3T2 — 2yp)
(3z3 + 2ys3, 3x3 — 2y3) are also on a single
line. Would this be true if we take some other

numbers instead of 3 and 2 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_l2q3uNxyzNQ5
https://dl.doubtnut.com/l/_YsMRJryJ6AHz

32. Find the equation of the line joining (1,2)
and (2,4), For points on this line with the
consecutive natural numbers '34,5, ... as the
'x' coordinates, what is the sequence of y

coordinates?

o Watch Video Solution

33. Find the equation of the line joining (-1,3)
and (2,5).Prove that if the point (x,y)is on this

line,so is the point (x+3,y+2).

| & I


https://dl.doubtnut.com/l/_SZECKwVjHSFv
https://dl.doubtnut.com/l/_ozBVkQgdLEHp

| ¥ Watch Video Solution |

34. Prove that whatever number we take as
x,the point (x,2x+3) is a point on the line

joining (-1,1) and (2, 7).

o Watch Video Solution

35. In the picture below, the x coordinate of a
point on the slanted (blue) line is 3.

i) What is its y coordinate?


https://dl.doubtnut.com/l/_ozBVkQgdLEHp
https://dl.doubtnut.com/l/_Y6l316LlhVmc
https://dl.doubtnut.com/l/_8fbtmQOSXNvo
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ii) What is the slope of the line?

i) Write the equation of the line.

o Watch Video Solution

36. In the picture here, 'ABCD' 'is a square.

Prove that for any point on the diagonal 'BD/,


https://dl.doubtnut.com/l/_8fbtmQOSXNvo
https://dl.doubtnut.com/l/_B8jpjPi1jrOT

the sum of the 'x' and ' y' coordinates is zero.
Y
4

c@3

A(=2,~2) B

o Watch Video Solution

37. Prove that for any point on the line

intersecting the axes in the picture, the sum of


https://dl.doubtnut.com/l/_B8jpjPi1jrOT
https://dl.doubtnut.com/l/_CxjefsB3pjzj

the 'x" and 'y' coordinates is 3 .

o Watch Video Solution



https://dl.doubtnut.com/l/_CxjefsB3pjzj

38. Find the equation of the circle with centre
at the origin and radius '5 . Write the

coordinates of eight points on this circle.

o Watch Video Solution

39. Prove that if '(x, y)' be a point on the circle
with the line joining '(0)' and '(2,3)' as
diameter, then 'x"2+y"2-2 x-4 y+' '3=0". Find the
coordinates of the points where this circle

cuts the 'y' axis:

| & I


https://dl.doubtnut.com/l/_wJDwhCtXtj4P
https://dl.doubtnut.com/l/_UNRInhvFHKsz

| ¥ Watch Video Solution |

40. What is the equation of the circle shown
below?

'(##VPU TTT MAT X P02 CO9 EO7 009 QO1##)'

o Watch Video Solution

41. What are the coordinates of the centroid

of the triangle with vertices (z1,y1) (22, y2)

and(zs, y3)

o Watch Video Solution



https://dl.doubtnut.com/l/_UNRInhvFHKsz
https://dl.doubtnut.com/l/_c2oo6XCf324e
https://dl.doubtnut.com/l/_n8ehmwKW63iv

42. We have seen that the points (3,5),(6,7),
(9,9) are points on the same line. is there any
relation between the 'x' coordinates 3,6 .and 9
of these points? What about the y coordinates
5,79 ? Can you find some more points on this

line with natural number coordinates?

o Watch Video Solution



https://dl.doubtnut.com/l/_n8ehmwKW63iv
https://dl.doubtnut.com/l/_cQ5DS7H17HBA

43. Prove that the quadrilateral formed by
joining the points '(-1,1),(6,6),(5,7)" '(-2,6)" is

cyclic.

o Watch Video Solution

44, (7,0)" is a point on the circle centred at
'(1,2) . Find the length of the tangent from the

point '(-25,2)" to the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_sOJyT5bN12AU
https://dl.doubtnut.com/l/_UsjX4GNmVxIv
https://dl.doubtnut.com/l/_Zhm1PcCUtdbk

45, If a circle is drawn with centre as origin
and radius 2, then how many points has on
the circle in which 'x' and 'y' co ordinatés are
integers. IS the centre '(2, 3) ?' What about the
points in which any co ordinate is an integer?

(##VPU_TTT_MAT X P02 CO9 EO8 003 QOT##)

o Watch Video Solution

46. Prove that for all points on the line joining

the origin and the point (4,2), the X -


https://dl.doubtnut.com/l/_Zhm1PcCUtdbk
https://dl.doubtnut.com/l/_4TEX4kDtMQcO

coordinate is double the 'y-' coordinate. What

is the equation of this line?

° Watch Video Solution

47. What is the equation of the line joining the
points '(1,3),(2,7) ?' Prove that if '(x,y)" is a point

on this line, so is the point '(x+1, y+4)'

° Watch Video Solution



https://dl.doubtnut.com/l/_4TEX4kDtMQcO
https://dl.doubtnut.com/l/_vDJyVOgfz20f

48. What is the point at which the line
2r + 4y — 1 = O cuts

the x -axis? What about the y - axis?

o Watch Video Solution

49, Prove that the equations 3z + 2y 4+ 5 =0
and 3z 4+ 2y — 1 = 0 are parallel.
What are the points of the lines cut the x -

axis? What about the y-axis?

° Watch Video Solution



https://dl.doubtnut.com/l/_kxT7417xRERA
https://dl.doubtnut.com/l/_NWGJbSnJ8D1a

50. a) If 'C(-1, k)" is a point on the line passing
through the point 'A(2,4)' and 'B(4,8)' which
number is 'K' ?

b) What is the relation between the X
coordinate and the y.coordinate of any point

on this line?

o Watch Video Solution

51. C' is the centre of the circle passing

through the origin. Circle cuts the 'y' axis at


https://dl.doubtnut.com/l/_NWGJbSnJ8D1a
https://dl.doubtnut.com/l/_tjxDkL4ewXHk
https://dl.doubtnut.com/l/_kDH9nfL33pTU

'A(0,4)' and the axis at 'B(4,0)".

a) Write coordinates of C.

b) Write the equation of the circle.

c) '(0,0)' is a point on the circle. There is one
more point on the circle with. X' and y

coordinates'equal. Which is that point?

° Watch Video Solution

52. A circle is drawn with the origin as centre.

It passes through

the point (3, 3)


https://dl.doubtnut.com/l/_kDH9nfL33pTU
https://dl.doubtnut.com/l/_jrADdbjqlqPE

a) What is the radius of the circle?
b) Write the coordinates of a point where the

circle meets

the X - axis.

o Watch Video Solution

53. The coordinates of the vertices of a
triangle are 'A(1,1), B(5,5) , C(2,5)'

a), Write the coordinates of the midpoint D of
AB.

b) What is the length of CD?


https://dl.doubtnut.com/l/_jrADdbjqlqPE
https://dl.doubtnut.com/l/_r6b1ftTLBWeo

c) What are the coordinates of the point

dividing the line 'CD' in the ratio '2: 1 ?'

° Watch Video Solution

54. A circle with centre '(3,4)' passes through
the origin.

a) What is the radius of the circle.

b) If a point on the circle is '(x, y)', write the
relation between 'x, y'.

c) Check whether the point '(-2,1), lies on this

circle.

| e |


https://dl.doubtnut.com/l/_r6b1ftTLBWeo
https://dl.doubtnut.com/l/_WVVN6deJOF2H

& Wwatch Video Solution I

55.Find the slope of the line joining '(2,4)' and
'(4,7)". Write the coordinates of another point
on this line. Check whether '(5,8)' is on this

line.

° Watch Video Solution

56. Find the length of line joining 'A(-2,-3)' and
'B(4,5)'. write the equation of circle whose

diameter is 'AB'.


https://dl.doubtnut.com/l/_WVVN6deJOF2H
https://dl.doubtnut.com/l/_gsfxYXBycdA0
https://dl.doubtnut.com/l/_rK4Ra4gwXAu2

° Watch Video Solution

57. A triangle has its vertices 'A(3,2) , B(-5,-4),
'C(7,8) . P, Q, R" are the midpoints of 'AB’', 'BC'
and 'AC' respectively.

a) Find the coordinates of 'P, Q' and 'R'.

b) Find the perimeter of A PQR.

° Watch Video Solution



https://dl.doubtnut.com/l/_rK4Ra4gwXAu2
https://dl.doubtnut.com/l/_CVbpp1x7BGB2

58. A(1,2) , B(7,3), C(8,9) are the vertices of a
parallelogram ABCD.

Find the coordinates of 'D'.

o Watch Video Solution

59. A(1,2) , B(7,4), C(5,10)' are the vertices of / \
ABC'. Also 'P, Q',and 'R' are the midpoints of 'AB,
BC' and 'AC' respectively.

a) Find the coordinates of 'P, Q' and 'R'.

b) Prove that 'Delta P Q R' is angled.

| & I


https://dl.doubtnut.com/l/_bf6CLwt56xNh
https://dl.doubtnut.com/l/_PoTuLmhCys9P

| ¥ Watch Video Solution |

60. A(-2,3) , B(6,9)' be two points

a) Find the coordinates of the centre of the
circle with diameter 'AB'. Compute the
diameter.

b) If 'C' and 'D' are '(-3,5)' and '(5,-1)". Justify
whether 'CD' is a diameter?

c) If 'P'" and 'Q' are '(5,10)' and '(-1,2)". Justify

whether 'PQ' is a diameter?

o Watch Video Solution



https://dl.doubtnut.com/l/_PoTuLmhCys9P
https://dl.doubtnut.com/l/_8NZTlzGcPlaT
https://dl.doubtnut.com/l/_Xw1etdXMDrsV

61. The sum of the 'x' coordinates of the points
where the line cut 'x' axis is 14
If (3,4) is a point on it, find the equation of the

line.

o Watch Video Solution



https://dl.doubtnut.com/l/_Xw1etdXMDrsV

